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09/11/2021  08:58:322021/5426/T COMMNT S. Nix Hello,

The reason given is, It is blocking adequate use of the side passage'.  Is this adequate and valid enough to 

warrant more tree and wildlife habitat loss?  From the photo provided it does not appear to me that it is 

'blocking adequate use of the side passage'.  Is there real or potential danger from subsidence, or is the tree 

unhealthy?  If the answer to either of those is 'no', then I object to the felling of this tree.

 4Total:

Page 4 of 4


